Bioinorganics

5-17-2006: Atoms, Molecules & Reactions

1. Iron is the most abundant metal in the human body. Calculate the approximate mass of iron in a 100 pound, 150 pound, and 200 pound human. 

2. Show the electronic configuration of the d-electrons for iron(II) in the high spin state and the low spin state.  When O2 binds, as a ligand to iron(II) in the hemoglobin molecule a low spin state is observed.  Comment on this.

3. Select two of the articles. Read the article and develop three questions that combine material from the article with chemistry knowledge. Provide answers to your questions.  (These questions are to be submitted electronically to me by next Wednesday, so that I can post them on the website.)…See HW # 4 for more details.

